Industrial-Grade Welding Tables

INSTRUCTION MANUAL



ITEM NO. PART NUMBER QTY.
1 4x8x375 TOP 1
2 short slat 4x8375 7
3 bottom slats 4x8x375 3
WELD INSTRUCTIONS:
1) LAY THE TOP PLATE ON A FLAT SURFACE
WITH THE " MADE IN THE USA" ETCHING
FACING DOWN.
2) PLACE ITEM 2 (7X) ACROSS THE TOP PLATE
WITH THE THREE TABS IN THE SLOTS.
3) ITEM 3 (3X) WILL STRADDLE ITEM 2 AND THE
TABS (8 PER SLAT) WILL FIT IN THE SLOTS IN
THE TOP.
4) TACK WELD ALL THE SLATS AS NEEDED TO
HOLD THEM IN PLACE.
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SUGGESTED: WELD THESE POCKETS
ONLY. ALL 4 IN A COLUMN.

2 PLACES ON

— EACH WALL
125177.00 " ALL 4 SIDES

[TEM

NO. PART NUMBER

QTY.

1

WELDMENT STEP 1 1

long side 4x8X375

short side 4x8x375

WELD INSTRUCTIONS:

5) PLACE ITEMS 2 AND 3 AROUND TACKED ASSEMBLY.

6) SEE SUGGESTED WELD PATTERN FOR THE ASSEMBLY.
NOT ALL POCKETED AREAS NEED TO BE WELDED.
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WELD NOTES:

MINUMUM OF 4
ON EACH LEG PLATE

PLACES

ASSEMBLY NOTES:

ASSEMBLED
LEG
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